| N of associated (recoToSim) duplicate tracks vs pT |

[N of associated (recoToSim) tracks vs pT_]

N of reco track vs pT

celf’

2
P,

traél?

10

1

0.6f = ===~
10"

(Gedf’

2
p.

trag‘lg

10

1

10

(c;-e\}f’3

m

el-newgeom

2
P,

traélg

10

S)dely aniy

10"

syoen

N of reco track vs

=

4

o

+

i,

4

Y

S)dely ani)

-2

-3

syoen oney

track n

track n

track n

track n

| N of associated (recoToSim) duplicate tracks vs phi |

[N of associated (recoToSim) tracks vs phi |

N of reco track vs phi

o
—

0

¥
2 1

B
-3

syoel) axey

08F-----r

0.7!

S)dely ani)

0.6 r e A

syoen

0.6 --rr-mmmmm s r e




	Contents
	Page 1


